

Name: Al-Rainee Saad
Matric no: 19011501062
Department: Medicine and Surgery
Course: Med 1st

$$1. \int \frac{11-3x}{x^2+2x-3} dx$$

$$2. \int \frac{4x-16}{x^2-2x-3} dx$$

$$3. \int \frac{(2x^2-9x-35)}{(x+1)(x-2)(x+3)} dx$$

Solution

$$1. \int \frac{11-3x}{x^2+2x-3} dx$$

$$\text{Put } (x^2+2x-3) = (x-1)(x+3)$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = \int \frac{A}{x-1} + \frac{B}{x+3} dx$$

$$\therefore \int \frac{11-3x}{(x-1)(x+3)} dx = \int \frac{A}{x-1} + \frac{B}{x+3} dx$$

$$11-3x = A(x+3) + B(x-1)$$

~~11-3x~~ = Put $x=1$ into the equation.

$$11-3(1) = A(1+3) + B(1-1)$$

$$8 = 4A$$

$$\therefore A = 2$$

Put $x = -3$ into the eqn.

$$A(-3)+3 + B(-3-1) = 11-3(-3)$$

$$-4B = 20$$

$$\therefore B = -5$$

$$\frac{2}{(x-1)} - \frac{5}{(x+3)} = \frac{11-3x}{(x-1)(x+3)}$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = \int \frac{2}{(x-1)} dx - \int \frac{5}{(x+3)} dx$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = 2 \ln(x-1) + 5 \ln(x+3) + C$$

$$2. \int \frac{4x-16}{(x^2-2x-3)} dx$$

$$\text{But } (x^2-2x-3) = (x+1)(x-3)$$

$$\frac{4x-16}{(x^2-2x-3)} = \frac{A}{x+1} + \frac{B}{x-3}$$

$$4x-16 = A(x-3) + B(x+1)$$

Put $x = -1$ into the equation.

$$4(-1)-16 = A(-1-3) + B(-1+1)$$

$$-20 = -4A$$

$$A = 5$$

Put $x = 3$ into the equation.

$$4(3)-16 = A(3-3) + B(3+1)$$

$$-4 = 4B$$

$$B = -1$$

$$\int \frac{4x-16}{(x^2-2x-3)} dx = 5 \int \frac{1}{(x+1)} dx - \int \frac{1}{(x-3)} dx$$

$$\int \frac{4x-16}{(x^2-2x-3)} dx = 5 \ln(x+1) - \ln(x-3) + C$$

$$8. \frac{2x^2 - 9x - 35}{(x+1)(x+2)(x+3)} = \frac{A}{x+1} + \frac{B}{x+2} + \frac{C}{x+3}$$

$$2x^2 - 9x - 35 = A(x+2)(x+3) + B(x+1)(x+3) + C(x+1)(x+2)$$

$$2x^2 - 9x - 35 = A(x^2 + 5x + 6) + B(x^2 + 4x + 3) + C(x^2 + 3x + 2)$$

Put $x = -1$ into the equation.

$$-24 = 2A$$

$$A = -12$$

Put $x = -2$ into the equation.

$$-7 = 15B$$

$$B = -\frac{7}{15}$$

Put $x = -3$ into the equation.

$$10 = 2C$$

$$C = 5$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x+2)(x+3)} = \frac{-12}{x+1} - \frac{7/15}{x+2} + \frac{5}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x+2)(x+3)} dx = -12 \int \frac{1}{x+1} dx - \frac{7}{15} \int \frac{1}{x+2} dx + 5 \int \frac{1}{x+3} dx$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x+2)(x+3)} dx = -12 \ln|x+1| - \frac{7}{15} \ln|x+2| + 5 \ln|x+3| + C$$